Math 001-02, Quiz5 (2.6 and 2.7), Term 131 Instructor: Sayed Omar Page 1  14-Dec-13
SN ID NAME
Show all necessary steps for full marks.

Q1. (5 points) (2.6 Exercise 27): Graph the piecewise-defined function.
(a): Find the range.
(b): Determine the intervals where the function is decreasing.
(c): Determine the interval where the function is increasing.
2+x if  x<-4
f (x) _{x if —4<x<5
3x if X >b
Solution:

(a): Range =(—o,4]U(15,)
(b): The function is decreasing on [—4,5]
(c): The function is increasing on (—co,—4)and (5,)

Q2. (5 points) (Recitation 2.6) If f(x) :Hl—gﬂ  sketch the graph of f (x) and find

a) x— and y - intercepts
b) f(-2.4)+ f(2.006)

Solution: n =|[1—le|

X ‘y
n<l-—<n-+1
2 O—=e 3t
2n<2-x<2n+2 Oo——0 A
2n—-2<-Xx <2n
- TT X
-2n+2>X >-2n : : : : i i —0— : : 0 4
-6 5 4 3 2 -1 1 2 3 4 5 6
—2n<x <-2n+2 1t f——e
n | -2n<x <-2n+2 () zﬂl_gﬂ Sl —l
-3+
-1 |2<x<4 -1
0| 0<x<2 0
1| -2<x<0 1

(@): x —int: {x|0<x <2}
y —int: y =1



Math 001-02, Quiz5 (2.6 and 2.7), Term 131 Instructor: Sayed Omar Page2  14-Dec-13
(b): f (-2.4)+f (2.006) ="

f(_2_4):[[1__22.4]1:Hz+22.41|:[[4_;ﬂ:[[2_2]]:2

f (2.006) = Hl_ 2.006“ _ HZ —2.006]‘ _ H—0.00G]‘ _ [[_0.003]] _ 1
2 2 2

f (-2.4)+f (2.006) =2 -1=1

Q3. (5 points) (Recitation 2.7 Q#3) Determine which of the following functions are even, odd, or
neither.
2X

) f(x):3x —x°

b) f(x)=x*-5x +8
c) f(x)=x*+|x|+4

2(—x) -2x -1 - 2X

(—x)—(—x)5 T8 x5 -1 3 +x° 3x —x°

=f (x)

Solution: (@) f (—x)= 3
— f isaneven function.

b) f (—x)=(-x )4 —5(—x )+8=x"+5x +8=f (x) and=—f (x) = f is neither even nor odd.
c) f(x)=(-x) +|-x|+4=x2+|x|+4=f (x) = f isaneven function.

Q4. (5 points) (2.7Example 9): A graph of a function defined by y = f(x) is shown in adjacent

figure. Use this graph to sketch each of the following graphs.
(@): g(x)=f(x)+3 (b): A(x)= f(x+3) (©): k(x)=f(x—2)+3
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y = fix)
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Solution:
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/‘ kix)=flr=2)+3
3 !
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zlx)=flx)+ 3




